

Pay Estimate Created Date: July 6, 2022

Progress Estimate 1	Number	Contract ID Prime Contractor	211015-F12 Emery Sapp & S	ginal Contract Amount Change Order Amount rrent Contract Amount					
Approval Date								By User	
July 6, 2022		Ge	enerated and Ap	proved (and s	should be considered	Draft) at the I	Project Office Level by	engemc1	
July 6, 2022	Review	ved and Approve	lent Engineer Level by	lewisj1					
July 7, 2022		Re	Reviewed and Approved at the Central Office Controllers Office Level by						
Original Completion Date Current			pletion Date	Actual (Completion Date	% of C	urrent Contract Amoun	nt Complete	
September 1, 2	2022	September	1, 2022				6.28%		
	ct Informational Da	tes Mile			es				
Date Description	Origina	al Completion Date	Current Completion Date		No Milestones Exist	t for Contract			
Acceptance Date									
Awarded Date	Novem	ber 3, 2021	November 3, 2021 October 15, 2021 December 6, 2021						
Letting Date	Octobe	r 15, 2021							
Notice to Proceed Da	te Decem	ber 6, 2021							
Open to Traffic Date									
Work Began Date	June 2	7, 2022	June 27, 2022						

Contract Total Pay For Estimate No. 1

Contract Total Payable This Estimate:	\$85,794.74			
		<mark>\$0.00</mark>	\$85,794.74	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Incentive	\$0.00	\$0.00	\$0.00	
Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
Total Posted Items Pay	\$85,794.74	\$0.00	\$85,794.74	
211015-F12				
	This Estimate	Previous	To Date	

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description Unit Unit Price Current Installed Qty								
J6S3657	0010	6139911	MISC.REMOVAL, FURNISHING, AND PLACING HOT POLYMER CONCRETE PATCHING FOR CLASS A PARTIAL DEPTH	18,143	\$57,694.74						
	0020	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	LS	\$47,000.000	0.5	\$23,500.00				
	0030	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	EA	\$1,150.000	4	\$4,600.00				
Project J6S3657 - Total											
Overall - Total											

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informa	tion
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J6S3657	FAS S503(18)	Pavement repair	Various	ST CHARLES	on Various Routes in St	. Charles and St. Louis	Counties
Totals by J	Job Numbe	rs					
J6S3657					This Estimate	Previous	To Date
		d Item Pay			\$85,794.74	\$0.00	\$85,794.74
	Gross	ltem Adjustm			\$0.00	\$0.00	\$0.00
			Gross	Item Pay	\$85,794.74	\$0.00	\$85,794.74
	Incen	tive			\$0.00	\$0.00	\$0.00
	Dising	centive			\$0.00	\$0.00	\$0.00
		lated Damages			\$0.00	\$0.00	\$0.00
	Other	Contract Adju	stments		\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
211015-F12 J65	J6S3657	0001	0010	6139911	MISC.REMOVAL, FURNISHING, AND PLACING HOT POLYMER CONCRETE PATCHING FOR CLASS A PARTIAL DEPTH	399,937.00	0.00	399,937.00	LB	18,143.00	\$3.18	\$57,694.74
		0001	0020	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$47,000.00	\$23,500.00
		0001	0030	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	8.00	0.00	8.00	EA	4.00	\$1,150.00	\$4,600.00
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$37,500.00	\$0.00
	Project Je	6S3657 - To	otal Value	Posted to	Date as of Report Generated Date							\$85,794.74
211015-F12 Ove	rall - Total	Value Post	ed to Dat	te as of Rep	port Generated Date							\$85,794.74



Project: J6S3657

Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	6139911	MISC.	6/28/22	7/6/22	2,542.00	LB	Hwy n westbound lane 1	4.529		4.400		
			6/29/22	7/6/22	9,136.00	LB	hwy N west bound lane 1	4.529		4.599		
			6/30/22	7/6/22	6,465.00	LB	westbound lane 1 Hwy N	4.599		4.687		
0020	6169901	MISC.	6/30/22	7/6/22	0.50	LS	highway N Var locations	15.545		16.348		
0030	6169902	MISC. TRAFFIC CONTROL DEVICES	6/30/22	7/6/22	4.00	EA	Hwy N and K	15.545		163.48		One Message board in each direction for work on Hwy N location will change as work progresses.

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Jul 8, 2022

Contract ID:190215-D05

No Data Available